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qx)= 1 4 -6 ‘

L
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[IE4] [ Lo,
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[FIRES] 4= % 2220 1(x) > §i R f(11)=f(12)=f(13)=1 - f(14)=19
Ans @ f(x)=3(x—11)(x—12)(x—13)+1
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" (20-18)(20-19)(20-21)
I Excel e BIERIE I 2F 0

(x=18)(x—20)(x—21)
" (19-18)(19-20)(19-21)
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Y(a—ag)(a—as) | (a-ag)(a-a1) (az—a)(as—a2)
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i=1 i=1 Ijsn A T4
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FFI'SFFIJ ?J h(x)=a(x—18)(x-19)(x—20) » ~ h(21)=0=>a=0 - [HF=f(x)=g(x) -

- A
T L EA GOSN o F (DI D X, X ey X X
T EL0)=006) » 1=1,2,..0+1 » FIFZg)IERLFI- W 2F7% » Af(x)=g(x) -

(amﬂ,!zl) P2 v 2 () f(1)=1 - (2)=3 » f(3)=2 > f(4)=5 -
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. (x=2)(x=3)(x-4)

)= - 1=y 13)(1a) *3

(x=1)(x=2)(x—4)

" (3-1)(3-2)(3-4)

(x=1)(x=3)(x—4)
" (2-1)(2-3)(2-4)
(x=1)(x=2)(x=3)
" (4-1)(4-2)(4-3)

+2 +5

(F22) @ abe PRyt > 5ok 25 f(x) (n28)F% )] (x-a)(x—b) (x—c) Y iR
rOOHE K o P 0 T OB y=rO)BERLEDE y=I00 Y = Y
A(a,f(a)) ~ B(b,f(b)) ~ C(c,f(c))fupafsszss -

(1) @R L gzt H-1 SRR XL s -

(2) #f()=9x+4 > p()EL— i m % 2ZE= S m>1 0 & p()=g()f(x)+r(x) » E 1 r(x)
EUHRC 2t o N L o ?
4

4 ey : s
(A ] x+gl= p(x) > FTE=0EE 9g(x) - (B)F] x+gl# p(x) » (= FE g(x)

()1 gl p) » #4000 (D)F ] xegh () + 1 855 5 1)
E))') xvah® p(Y) » H = 4 1(x)+9
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(00-GOFA]1 5 F (R -
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()23 -
(d)) | (x=2)*B=FQpugR=" -

(5) Ef)=x*-2x"~x+5 » [ 2= g(x)=F(F()i& 1 |x—2 P pufg=2 13 %) 2
(A)3 (B)5 (©)7 (D)9 (B)11 (92 X][)

(6) 5% A HTRI= 3 B fIET |~ 1 gOOfIVRRat - =LA = 1o 7
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